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	38 x 5 = (30 + 8) x 5

38 x 5 = (30 x 5) + (8 x 5)

38 x 5 = 150 + 40
38 x 5 = 190
	6 x 74 = 6 x (70 + 4)

6 x 74 = (6 x 70) + (6 x 4)

6 x 74 = 420 + 24
6 x 74 = 444


· Calcule :

	948 x 6 =  (900 + 40 + 8) x 6
	
	
	948
	2944 8

(   x       6
5 6 8 8

	948 x 6 = (900 x 6) + (40 x 6) + (8 x 6)
	(
	x
	900
	40
	8
	

	948 x 6 = 5 400 + 240 + 48
	
	6
	5 400
	240
	48
	

	948 x 6 = 5 688
	
	
	= 5 688
	


	3 x 237 = 3 x (200 + 30 + 7)
	
	
	237
	1223 7

(   x       3
7 1 1

	3 x 237 = (3 x 200) + (3 x 30) + (3 x 7)
	(
	x
	200
	30
	7
	

	3 x 237 = 600 + 90 + 21
	
	3
	600
	90
	21
	

	3 x 237 = 711
	
	
	= 711
	


	609 x 5 =  (600 + 0 + 9) x 5
	
	
	609
	640 9

(   x       5
3 0 4 5

	609 x 5 = (600 x 5) + (0 x 5) + (9 x 5)
	(
	x
	600
	0
	9
	

	609 x 5 = 3 000 + 0 + 45
	
	5
	3 000
	0
	45
	

	609 x 5 = 3 045
	
	
	= 3 045
	


	8 x 274 = 8 x (200 + 70 + 4)
	
	
	274
	5237 4

(   x       8
2 1 9 2

	8 x 274 = (8 x 200) + (8 x 70) + (8 x 4)
	(
	x
	200
	70
	4
	

	8 x 274 = 1 600 + 560 + 32
	
	8
	1 600
	560
	32
	

	8 x 274 = 2 192
	
	
	= 2 192
	


	531 x 6 = (500 + 30 + 1) x 6
	
	
	531
	15 3 1

(   x       6
3 1 8 6

	531 x 6 = (500 x 6) + (30 x 6) + (1 x 6)
	(
	x
	500
	30
	1
	

	531 x 6 = 3 000 + 180 + 6
	
	6
	3 000
	180
	6
	

	531 x 6 = 3 186
	
	
	= 3 186
	


· Calcule en colonnes :

	45 8

x    6
3 4 8
	35 6

x    6
3 3 6
	34 9

x    4
1 9 6
	26 3

x    7
4 4 6
	7 1

x    9
6 3 9
	28 4

x    5
4 2 0


	2216 4

x       4
1 0 5 6
	2335 7

x       5
1 7 8 5
	5448 8

x       6
2 9 2 8
	710 4

x       3
2 1 1 2
	2953 7

x       8
7 4 9 6
	18 2 0

x       7
5 7 4 0


